P = -

BOE T 104 £ EH T IR B IESP4EIA B Rral 1 104 £ /24 > B

FRENRFT | BIARE RoNE & ik F 4= RENEIEAN BHEIIEREE
B AT4% B B 3T R 155 # RAAAH 105409 A 10 B
= M % B a3F AP HBo
T B R GEA R B L) BB ER(ER) 5 5
BYERBEL AWML ENEIES R ITAREZCGERM) 3 3
B AR BIA B TAF B S5 A 2 ¥ 7548 B 5 5
B8R BEERFEHBEH(FEERE L) Q ») HE%
BAFEWE BHBEFQ L) BESMHEC ) FREGRE 10 10
28%  BREBIEAMME)VRGQ 2  BETHEQ )
HHEREBRE(ED)2 S
NHRESEDHRE ORESRATEAEBEA 5 5
EN4ER2R)3 4
R MR R IRFARAR B R R E (4R 99
12 A 6 BB T 0990480279 3% %3532 ) &, 0 "
_ NHEE - HEMHE  RBBREBRBERLZE R
ANER g g b AR R A
e BB BELGERT 24 (A 103.8.1 &£&4)
S BEELIESI -1 4 (4 103.8.1 A2it4) 5 0
HEERFEEEERE 2 5( A/ 103.8.1 #&2iE4)
PR I A (R B - A4 R S 5 5
oy, (PRERBBETMLBHBRARE)THE LR ’ :
BHEFRTEBORGITER..) -

JRp—— &ﬁ@ﬁ&ﬁ&ﬁ&&%&ﬁﬁ%ﬁm%%%%

Bk 10% HREHA ~ 2L RBHETIY 2 BERNRFER 10 10
B A G E%)

Bk 5% B AR #3t £(103.8.1 A2) 2 2
FERFUREIMGEFMHA4RK(103.8.1 &) 3 3
FHEABREFEEBEEEAB(CHFNALAT 4 ]

JREH IR 4o FHRIGABBIEHR) (B 103.8.1 &2 4)

$20% SmREEREABME (S RIS 2KR6%0) 6 6
EBEAX BHRERREAREEEH - 10 10

NEREATRE 104 FEHAFTRHFLRY TEFELR 5 5

TR FAEGBRAEFEERZCGERM) 2 2

B REFUHRGRATHEERRY EERAHADERE 5 5

G

FtsE 1

B3 A

CRF
M2~ HALE B

WP BHERECFEABEE

EE

Bk -

 EA& T GRZE O SPERE TRE [FrEA 5%]) - [MEE3RERIE 15%]

——
e 45120




